
 
 
 

 
 

 

                                                            MARKING SCHEME 
 

Qn
.  

No 

ANSWERS Marks  
 

1 d) 7.07007…  

2 b)7/2  

3 b)(3,0)  

4 b)25  

5 a)0  

6 a)4  

7 b)quadrant II  

8 b)-1  

9 c)(x0,)  

10 a)3  

11 d)non-terminating and non-recurring  

12 c)7  

13 a)180  

14 a)infinitely many solutions  

15 c)rational or irrational  
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16 b)6  

17 d)√𝑎 − 𝑏/√𝑎 − 𝑏  

18 b)1  

19 b)  

20 a)  

 SECTION B  

21 x+500=1800(linear pair) 

x=1800-500=1300 

y=1300(vertically opposite angles) 

 

22  

 Area of the rectangle = l×b=4× 28 sq.unit 

 

23 Let x=0.2353535…. 

100x=23.5353…. 

       =23.3+0.23535.. 

       =23.3+x 

99x=23.3 

X=233/990 

 

24 (abscissa of A)-(abscissa of B) 

=(-3)-(-7) 

=-3+7 

=4 

 



25 Since AB||CD and PQ is a transversal,  

<APQ=<PQR 

X=500 

Since AB||CD and PR is a transversal, 

<APR=<PRD 

500+y=1270 

Y=770 

 

 SECTION C  

26 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

27 (i) (x + y + z)2 = x2 + y2 + z2 + 2xy + 2yz + 2xz 

 

(4a+(-b)+2c)2=16a2 + b2 + 2c2 − 8ab − 4bc + 16ac 

 

(ii) (
1

𝑥
+

𝑦

3
)2 =

1

𝑥3 +
𝑦

3𝑥2 +
𝑦2

3𝑥
+

𝑦3

27
 

 

28 Identity used is (𝑎 − 𝑏)3 = 𝑎3 − 3𝑎2𝑏 + 3𝑎𝑏2 + 𝑏3 

 

1-64𝑎3 − 12𝑎 + 48𝑎2=(1 − 4𝑎)3 = (1 − 4𝑎)(1 − 4𝑎)(1 − 4𝑎) 

 

29 (i)(3,4) 

(ii)x-axis 

(iii)(-3,-4) 

 



30 (i)let the son’s age=x 

After 5 years age of son=x+5 

Let the age of mother=y 

After 5 years age of the mother=y+5 

Y+5=3(x+5) 

Y+5=3x+15 

3x-y+10=0 

 

(ii)2×2+3× 3 = 𝑘 

k=13 

 

31 

 

Draw a line AB parallel to PQ through R 

<PQR+<QRA = 1800 

<QRA= 700 

<SRB+<RST=1800 

<SRB=500 

<QRS=1800-1200=600 

 

 SECTION D  

32 1

3 − √8
−

1

√8 − √7
+

1

√7 − √6
−

1

√6 − √5
+

1

√5 − 2
 

 

=
3+√8

(3−√8)(3+√8)
−

√8+√7

(√8−√7)(√7+√8)
+

√7+√6

(√7−√6)(√7+√6)
−

√6+√5

(√6−√5)(√6+√5)
+

√5+2

(√5−2)(√5+2)
 

=(3+√8)-( √8 + √7)+( √7 + √6)-( √6 + √5)+( √5 + 2) 

=3+2 

=5 

 



33 (i) 𝑥3 + 𝑦3 + 𝑧3 = 3𝑥𝑦𝑧 

(−12)3 + 53 + 73 = 3 × (−12) × 5 × 7 

                                  = −1260 

(ii) Since x-3 is a factor 9p+15+r=0 

Since x-1/3 is a factor p+15+9r 

Equating we get 8p=8r 

p=r  

 

34 (i) y=8+5(x-1) 

y=8+5x-5 

5x-y+3=0 

(ii) a=5, b=-1, c=0 

(iii) (1,8) and (-1,-2) 

 

35 

 

Draw a line AB parallel to l through O. 

x-200=3600-(500+600) 

            =3600-1100 

            =2500 

x=2700 

           

 

 SECTION E  

36 (i) b) 

(ii) a) 

(iii) b) 

(iv) c) 

 

37 (i) c) 

(ii) b) 

(iii) c) 

(iv) b) 

 



38 (i) c) 

(ii) a) 

(iii) d) 

(iv) c) 

 

 

 THE END  

 

 


